MATHEMATICA - REVUE D'ANALYSE NUMÉRIQUE ET DE THÉORIE DE L'APPROXIMATION

L'ANALYSE NUMÉRIQUE ET LA THÉORIE DE L'APPROXIMATION Tome 20, Nos 1-2, 1991, pp. 11-14

ABSOLUTE CESÀRO SUMMABILITY FACTORS ON THE

HÜSEYIN BOR

(Kayseri) Marketin of the market he are a few

Abstract. In this paper a theorem of Mishra and Srivastava [3] has been proved under weaker conditions.

1. Introduction. Let $\sum a_n$ be a given infinite series with partial sums s_n , and $w_n = na_n$. By u_n and t_n we denote the n-th (C, 1) means of the sequences (s_n) and (w_n) , respectively. The series $\sum a_n$ is said to be summable $|C, 1|_k, k \ge 1$, if (see [1])

$$\sum_{n=1}^{\infty} n^{k-1} |u_n - u_{n-1}|^k < \infty. \tag{1.1}$$

But since $t_n = n(u_n - u_{n-1})$ (see [2]), condition (1.1) can also be written

$$\sum_{n=1}^{\infty} \frac{1}{n} |t_n|^k < \infty. \tag{1.2}$$

Mishra and Srivastava [3] have proved the following theorem for $C, 1 \mid_k$ summability factors of infinite series.

THEOREM A. Let (X_n) be a positive non-decreasing sequence and there be sequences (λ_n) and (β_n) such that

$$|\Delta \lambda_n| \leq \beta_n \tag{1.3}$$

$$|\Delta \lambda_n| \leqslant \beta_n \tag{1.3}$$

$$\beta_n \to 0 \text{ as } n \to \infty \tag{1.4}$$

$$\cdot \sum_{n=1}^{\infty} n |\Delta \beta_n| X_n < \infty \tag{1.5}$$

$$|\lambda_n| X_n = O(1) \text{ as } n \to \infty.$$
 (1.6)

$$\sum_{n=1}^{n} \frac{1}{y} |s_n|^k = O(X_n) \text{ as } n \to \infty, \tag{1.7}$$

then the series $\sum a_n \lambda_n$ is summable $|C, 1|_k, k \geqslant 1$.

2. The aim of this paper is to prove Theorem A under weaker conditions. Now, we shall prove the following theorem.

THEOREM. Let (X_n) be a positive non-decreasing sequence and the sequences (λ_n) and (β_n) are such that conditions (1.3)-(1.6) of Theorem A are satisfied. If

$$\sum_{v=1}^{n} \frac{1}{v} |t_v|^k = O(X_n) \ as \ n \to \infty,$$
 (2.1)

then the series $\sum a_n \lambda_n$ is summable $|C, 1|_k, k \ge 1$.

REMARK. It should be noted that the condition (1.7) implies the condition (2.1), the converse need not be true. In fact, since

$$u_n = \frac{1}{n+1} \sum_{v=0}^n s_v, \tag{2.2}$$
 we have

we have
$$(n+1)\ u_n-nu_{n-1}=s_n.$$

Thus, using the fact that $n(u_n - u_{n-1}) = t_n$, we have $t_n = s_n - u_n$. We

$$\sum_{v=1}^{n} \frac{1}{v} |t_{v}|^{k} \leq 2^{k} \left\{ \sum_{v=1}^{n} \frac{1}{v} |s_{v}|^{k} + \sum_{v=1}^{n} \frac{1}{v} |u_{v}|^{k} \right\}. \tag{2.3}$$

On the other hand, using (2.2) and applying Hölder's inequality, we get

$$\sum_{v=1}^{n} \frac{1}{v} |u_{v}|^{k} = \sum_{v=1}^{n} \frac{1}{v} \left| \frac{1}{v+1} \sum_{p=0}^{v} s_{p} \right|^{k} \leqslant 2^{k} \left\{ \sum_{v=1}^{n} \frac{1}{v^{k+1}} \left\{ \sum_{p=1}^{v} |s_{p}| \right\}^{k} + |s_{0}|^{k} \sum_{v=1}^{n} \frac{1}{v^{k+1}} \right\} \leqslant 2^{k} \sum_{v=1}^{n} \frac{1}{v^{2}} \left\{ \sum_{p=1}^{v} |s_{p}|^{k} \right\} \times \left\{ \frac{1}{v} \sum_{p=1}^{v} 1 \right\}^{k-1}$$

$$+ 2^{k} |s_{0}|^{k} \sum_{v=1}^{n} \frac{1}{v^{k+1}} = O(1) \sum_{p=1}^{n} |s_{p}|^{k} \sum_{v=1}^{n} \frac{1}{v^{2}} + O(1) = O(1) \sum_{p=1}^{n} \frac{1}{p} |s_{p}|^{k} + O(1),$$

so that, if (1.7) holds, then

$$\sum_{v=1}^{n} \frac{1}{v} |t_v|^k = O(X_n) \text{ as } n \to \infty, \text{ by (2.3)}.$$

To show the converse of this implication, it is sufficient to take $X_n = \log n$ and $a_n = \frac{1}{n}$, where n > 1. That is, if we choose (X_n) and a_n as above, then condition (2.1) holds but condition (1.7) does not hold. So we are weakening the hypotheses replacing (1.7) by (2.1).

3. We need the following lemma for the proof of our theorem.

LEMMA. ([3]). Under the conditions on (X_n) and (β_n) as taken in the statement of Theorem A, the following conditions hold, when (1.5) is satisfied

$$n\beta_n X_n = O(1) \ as \ n \to \infty \tag{3.1}$$

$$\sum_{n=1}^{\infty} eta_n X_n < \infty.$$

4. Proof of the theorem. Let (T_n) be the n-th (C, 1) mean of the sequence $(na_n\lambda_n)$. That is to say that

$$T_n = \frac{1}{n+1} \sum_{v=1}^n v a_v \lambda_v. \tag{4.1}$$

To prove the theorem, we have to show that

$$\sum_{n=1}^{\infty} \frac{1}{n} |T_n|^k < \infty, \text{ by (1.2)}.$$
 (4.2)

Applying Abel's transformation to the sum (4.1), we get that

$$T_n = rac{1}{n+1} \sum_{v=1}^{n-1} (v+1) t_v \Delta \lambda_v + t_n \lambda_n = T_{n,1} + T_{n,2}, ext{ say.}$$

To complete the proof of the theorem, by Minkowski's inequality it is sufficient to show that

$$\sum_{n=1}^{\infty} \frac{1}{n} |T_{n,r}|^k < \infty, \quad \text{for } r = 1, 2. \tag{4.3}$$

Firstly, using (1.3) and applying Hölder's inequality, we have that

$$egin{aligned} \sum_{n=2}^{m+1} rac{1}{n} \mid T_{n,1} \mid^k &= O(1) \sum_{n=2}^{m+1} rac{1}{n^{k+1}} \left\{ \sum_{v=1}^{n-1} v \, eta_v \mid t_v \mid^k
ight\}^k \ &= O(1) \sum_{n=2}^{m+1} rac{1}{n^2} \left\{ \sum_{v=1}^{n-1} v \, eta_v \mid t_v \mid^k
ight\} imes \left\{ rac{1}{n} \sum_{v=1}^{n-1} v \, eta_v
ight\}^{k-1} \ &= O(1) \sum_{v=1}^{m} v eta_v \mid t_v \mid^k \sum_{n=v+1}^{m+1} rac{1}{n^2} = O(1) \sum_{v=1}^{m} v \, eta_v v^{-1} \mid t_v \mid^k \end{aligned}$$

$$=O(1)\sum_{v=1}^{m-1}\Delta(v\beta_v)\sum_{p=1}^{v}\frac{1}{p}|t_p|^k+O(1)m\beta_m\sum_{v=1}^{m}\frac{1}{v}|t_v|^k$$

$$=O(1)\sum_{v=1}^{m-1}|\Delta(v\beta_v)||X_v+O(1)|m\beta_mX_m=O(1)\sum_{v=1}^{m-1}v||\Delta\beta_v||X_v$$

$$+ O(1) \sum_{v=1}^{m-1} |\beta_{v+1}| X_v + O(1) m \beta_m X_m = O(1) \text{ as } m \to \infty.$$

by virtue of (1.5), (2.1), (3.1), and (3.2).

It may be remarked that from the hypotheses of the theorem, (λ_n) is bounded. This can be shown like this. Since (X_n) is non-decreasing, $X_n \geq X_0$, which is a positive constant. Hence (1.6) implies that (λ_n) is bounded. Thus

$$\sum_{n=1}^{m} \frac{1}{n} |T_{n,2}|^k = \sum_{n=1}^{m} |\lambda_n| |\lambda_n|^{k-1} n^{-1} |t_n|^k = O(1) \sum_{n=1}^{m} |\lambda_n| |n^{-1}|t_n|^k$$

$$=O(1)\sum_{n=1}^{m-1}|\Delta\lambda_n|X_n+O(1)|\lambda_m|X_m=O(1)\sum_{n=1}^{m-1}\beta_nX_n+O(1)|\lambda_m|X_m=O(1)$$

as $m \to \infty$, in view of (1.3), (1.6), (2.1), and (3.2).

Therefore, we get that

$$\sum_{n=1}^{m} \frac{1}{n} |T_{n,r}|^k = O$$
 (1) as $m \to \infty$, for $r = 1,2$.

This completes the proof of the theorem.

REFERENCES

 Flett, T. M., On an extension of absolute summability and some theorems of Littlewood and Paley, Proc. Lond. Math. Soc., 7 (1957), 113-141.

 K og b e tliantz, E., Sur les séries absolument sommables par la méthode des moyennes arithmétiques, Bull. Sci. Math., 49 (1925), 234-256.

3. Mishra, K. N. and Srivastava, R.S.L., On absolute Cesàro summability factors of infinite series, Portugaliae Math., 42 (1983-1984), 53-61.

Received 15.IX.1990

Department of Mathematics, Erciyes University, Kayseri 38039, Turkey